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An elementary particle pulsation principle revises equation of Einstein, E=mc?.

The new equation by the elementary particle pulsation hypothesis.

Arrow of time turns. In response to it, mass m changes with +1, 0, -1.

Arrow of time turns.

It is the same as the arrow of time of the Schrodinger equation.

Arrow of time turns.

It is the same as a material wave of the elementary particle pulsation hypothesis.
Current physics is always +mc*>(. Elementary particle mass m does not change.

A pulsation principle suggests a super-high-speed change of elementary particle mass m.
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Mass m is zero at the time of zero 6. The gravity is zero at the time of zero mass m. phond
% Arrow of time turns, In response to it, mass m changes with +1, 0, -1, = X = é
% Arrow of time turns, It is the same as the arrow of time of the Schrodinger equation, S
% It is the same as a material wave of the elementary particle pulsation hypothesis. T \\/// T ;
% Current physics is always +mc® >0, Elementary particle mass m does not change, EEENAAE fn:‘mﬂ

A pulsation principle suggests a super-high-speed change of elementary particle mass m,
% The gravity is zero at the time of zero mass m, The gravity acts intermittently,
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Electronic orbit in the atom.
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The difference between the force (Image picture)

of gravity and the electromagnetic force.
Electromagnetic force is a direct response of the energy of the photon and photon ene

Photon energy is not involved in gravity,
Gravity is the effect of dark energy into space was eliminated.

Mass of the energy of a photon,

Photon Electromagnetic force Photon
Mass of the energy of a photon, Direct reactions of enormous energy.

The amount of dark energy,

Dark energy _ . -40
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Dark energy Gravity is a compression force of dark energy.
Gravity

Photon This space is space were eliminated by the photon, Photon
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